SENRENERSEN(LE) T =

=T

PREDHEHRIANDZEE AolZ1H20[E
—EDEHRHDUNECTT,

LI ETHdDIEF

KEBEEM : R LDB—ADAH., Tk [FAHFDOSEA] (B 4 X—2/ 8

(BFARER) @~@OVWFNHICEIETHHE—ADE,

sHlE [—AREEERIAHDCE
ZEFEEAZEDOICDONT

I R—ID

ANl 3~5X=UD BABREFICOWVNTC &

ZCELIEEL,




(IED?) T
Dt R

65
ik
=1
AE
29
==
A
<?a)
@73
)
L
gr‘ o
EAE:
R
E__%laf
32
2 C
€3
il
A~
DAl
7t
4
~N
I,
pJ
8

il
E
D
HA
&
A
)
]
e
h
o]
2
ya))
20
o]
X
s
[§
»
%
(&
£
&
E
D
=
#
ya))
DA
=
[§
i

<HEFEE> —psrEEs SRHECAERGEN (KF) s 0w 3 M
NI P c i . VA R v s I
e b L0 0 ZE R 7 S O akiv PR U bisvonf i sy §
(THEX )
0161-02-0310|ffrpH:E THXEK - TH1E2S 6 - £ (5.5) 3/ 6| TLx=5=0 | 26,000/ 38,800
28 310% LDK (9) T2 g O 30,100 44, 300
a2 2 HHSRET #90. 7km 51. 13 nf Ml |fEE O | 34,400 51,200
JEXM)
0307-01-0103|#E&E T JEREENTS TH 1 3 #ih 6-6-3 1/ 7| =Lbx=5=0 | 14,000] 20, 800F= (T
I 103% DK (6) A4 6 1R < | 16,200 23,800
HUF s I £90. Tkm 43.34 of M| x| 18,500 27, 500
(FRIXA)
0504-02-0411|JLAmHE T AR 2 TH 1 it 4.5-6 -6 A1 rbs=s=0 0 17,700) 26, 300
28 4115 DK(6.5) A5 0 £ 1 X | 20,400) 30, 100
/N2 figEASE 490, 1km 52.82 ni C e x| 23,300 34,700
(HEFEXN)
0807-01-0316|#rHLLH BRI L@ 4 TH 8 #tio 5 6 -5 D) 3/ 5| TL~=5=0 | 13,200/ 19,700
I 316% DK (5) A1 745 x| 15,300 22,500
HEFRRZIAR  BASEBISE £90. 4 km | 39.58 nf R | # x| 17,500 26,000
(BAHXMN)
0909-01-0605| =+ HHX = H-TH26%F1—605% 6-6-4.5 6/ 9] xba=7=01 18,000 26,900
I 6055 DK (6. 5) B 5 0 69 < 120,800 30, 700
HFRRERR SR 490, Tkm 52.75 nf M| # x| 23,800 35,400
G
1014-02-0207 |XHFH:E o) | BRI 1T H 3 it 6 -5 - (3.5 2/ 5| Tbx=5=0 1 13,500/ 20,100
2 2075 DKG) A4 8 5 AR X | 15,600 23,000
HBiHM TE #90. 3km 42.89 nf | E x| 17,800 26, 500
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A2 FHRE #90. 5km 42. 38 nf Ml |%mE O | 26,500 39, 500
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1111-04-0307| 2R EXZRAANT 3 TH 1 Btho | 6 - 4.5 %) 3/ 5| TLN=5=0 | 12,600 18,700
A 307% K(4.5) B4 7 < | 14,500 21, 400
HE7eH4E HEIE #90. 5 km 41.06 nf ralll | # * | 16,600( 24, 700
(FEXN)
1210-05-0605| &4 REXFEAMT 2 TH 1 it 66 4.5 6/ 7| xL~=5=0 | 19,100 28,400
S 6055 DK (6) B0 5 5 O | 22,000] 32,500
SEEERR QT #90. 5km 53. 74 nf Ml | E x| 25,200 37,500
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